
 

  

 

 

B.Com. DEGREE EXAMINATION –  

JUNE, 2012. 

Third Year 

COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks)  

Answer any THREE questions. 

1. Define Cost Accounting. What are its limitations? 

 ‘AhUPÂø» PnUQ¯À’ Áøµ¯ÖUP. Auß 
SøÓ£õkPÒ ¯õøÁ? 

2. What is meant by labour turnover? What are the 

causes for it? 

 £o¯õÍº _ÇØ] GßÓõÀ GßÚ? Auß Põµn[PÒ 
¯õøÁ? 

3. Write a note on Allocation and Absorption of 

overheads. 

 ÷©Øö\»ÄPøÍ JxURk ö\´uÀ ©ØÖ® DºzuÀ £ØÔ 
SÔ¨¦ ÁøµP. 
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4. What are the features of Job Costing? 

 £o AhUPÂø»°ß ußø©PÒ ¯õøÁ? 

5. Explain the concept of Break even analysis. 

 »õ£ |èh©ØÓ £S¨£õ´Ä P¸zøu ÂÍUSP. 

SECTION B — (4 × 15 = 60 marks)  

Answer any FOUR questions. 

6. Explain the elements of cost. 

 AhUPÂø»°ß TÖPøÍ ÂÍUSP. 

7. Prepare Stores ledger card for the month of March 

1998 under LIFO method. 

 Date   Particulars Units Total Value 

 1  Balance 300 @ 2.00 600 

 2  Purchase 200 @ 2.20 440 

 4  Issue  150 

 6  Purchase 200 @ 2.30 460 

 11  Issue  150 

 19  Issue  200 

 22  Purchase 200 @ 2.40 480 

 27  Issue  250 
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 CÖv°À Á¢ux •u¼À ö\¾zv¯x GßÓ •øÓ°À 

©õºa 1998&ß \µUS C¸¨¦ ÷£÷µmøh u¯õ›UP. 

 ÷uv   |hÁiUøPPÒ A»SPÒ  ö©õzu ©v¨¦ 

          (¹£õ°À) 

 1  C¸¨¦   300 @ 2.00 600 

 2  öPõÒ•uÀ  200 @ 2.20 440 

 4  öÁÎ°mhx  150 

 6  öPõÒ•uÀ  200 @ 2.30 460 

 11  öÁÎ°mhx  150 

 19  öÁÎ°mhx  200 

 22  öPõÒ•uÀ  200 @ 2.40 480 

 27  öÁÎ°mhx  250 

8. From the following particulars calculate the 

earnings of A and B under Halsey plan and Rowan 

plan. Standard time 10 hours and Time rate Re. 1 

per hour, Time taken 9 hours by A and 8 hours by B. 

 íõÀ] ©ØÖ® ÷µõÁõß •øÓ°À, A  ©ØÖ® ‘B’ Âß 

Á¸©õÚzøu RÌUPõq® ÂÁµ[PÎ¼¸¢x 

PnUQkP. uµ ÷|µ® : 10 ©o; Põ» Ãu® : ©oUS  

¹. 1 Ãu®; Põ»® GkzxU öPõshx (A) 9 ©o 

÷|µ®;   (B)   8 ©o÷|µ®. 
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9. A producing concern is divided into four 

departments, A, B, C are production departments 

and D is a service department. Actual expenses for 

a period are as follows : 

      Rs. 

 Depreciation of plant    4,500 

 Rent     10,000 

 Lighting      1,000 

 Supervisory expenses  15,000 

 The following information is available in respect of 

four departments. 

 Departments 

 A B C D 

Area (sq. feet) 1,500 1,100 900 500 

Number of lights 75 11 9 5 

Number of 

employees 

200 150 100 50 

Value of plant (Rs.) 2,40,000 1,80,000 1,20,000 60,000 

 Apportion the costs to various departments on the 

most equitable basis. 

 J¸ EØ£zv {ÖÁÚzvÀ A, B ©ØÖ® C BQ¯ 

‰ßÖ xøÓPÐ® ‘D’ GßÓ ÷\øÁ xøÓ²® C¸¢ux. 

SÔ¨¤mh Põ»zvÀ Esø©¯õÚ ö\»ÄPÒ 

¤ßÁ¸©õÖ :  
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            ¹. 

 ö£õÔ «uõÚ ÷u´©õÚ®    4,500 

 ÁõhøP    10,000 

 ÂÍUS      1,000 

 ÷©Ø£õºøÁ¯õÍµx ö\»ÄPÒ 15,000 

 |õßS xøÓPÐUPõÚ ÂÁµ[PÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. 

 xøÓPÒ 

 A B C D 

£µ¨£ÍÄ 
(\.«mh›À) 

 

1,500 

 

1,100 

 

900 

 

500 

ÂÍUSPÎß 
GsoUøP 

 

75 

 

11 

 

9 

 

5 

£o¯õÍºPÎß 
GsoUøP 

 

200 

 

150 

 

100 

 

50 

ö£õÔ°ß ©v¨¦ 
(¹£õ°À) 

 

2,40,000 

 

1,80,000 

 

1,20,000 

 

60,000 

 ªP {¯õ¯©õÚ •øÓ°À ö\»ÄPøÍ £À÷ÁÖ 
xøÓPÎøh÷¯ ¤›UP. 

10. From the following figures prepare a reconciliation 

statement between cost and financial records, 

       Rs. 

 Net profit as per financial records 1,73,130 

 Net profit as per costing records 1,72,400 
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       Rs. 

 Works overhead under recovered in   

  costing      3,120 

 Administrative overhead recovered in   

  excess in financial records   1,700 

 Depreciation charged in financial records 11,200 

 Depreciation recovered in costing 12,500 

 Interest recovered but not included in  

 costing      8,000 

 Depreciation of stock charged in financial   

  books      6,750 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x AhUPÂø» ©ØÖ® 

{v°¯À HkPÎøh÷¯ \›UPmk® £mi¯ø» 

u¯õ›UP. 

       ¹. 

 {v°¯À HkPÒ £i {Pµ »õ£®  1,73,130 

 AhUPÂø» HkPÒ £i {Pµ »õ£® 1,72,400 

 ÷Áø» ÷©Øö\»ÄPÒ AhUPÂø»°À  

  SøÓÁõP GÊu¨£mhx   3,120 

 {ºÁõP ÷©Øö\»ÄPÒ {v°¯À HkPÎÀ  

  AvP©õP GÊu¨£mhx    1,700 

 {v°¯À HkPÎÀ ÷u´©õÚ®   

ÁøPö\´¯¨£mhx   11,200 



 

 UG–314 7

       ¹. 

 AhUPÂø»  HkPÎÀ ÷u´©õÚ®   
ö£Ó¨£mhx    12,500 

 AhUPÂø» HkPÎÀ ÷\ºUP¨£hõu ö£ØÓ   

  Ámi     8,000 

 {v°¯À HkPÎÀ \µUQ¸¨¦ «uõÚ   

  ÷u´©õÚ®    6,750 

11. V Ltd presents the following results for one year. 

Calculate the P/V ratio, BEP and Margin of Safety 

 Sales   Rs.2,00,000  

 Variable Cost  Rs.1,20,000 

 Fixed Cost  Rs.50,000  

 Net profit   Rs.30,000 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x, »õ£ £¸©ß ÂQu®, 

»õ£ |èh©ØÓ ¦ÒÎ ©ØÖ® £õxPõ¨¦ GÀø»ø¯ 

PnUQkP. 

 ÂØ£øÚ   ¹. 2,00,000  

 ©õÖ£k® ö\»ÄPÒ  ¹. 1,20,000 

 {ø»¯õÚ ö\»ÄPÒ ¹. 50,000  

 {Pµ »õ£®   ¹. 30,000. 
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12. Calculate Material Cost variance from the 

following data : 

    Standard Actual 

 Quantity    400 kgs    460 kgs 

 Price   Rs.2 per kg Rs. 1.5 per kg 

 Value  Rs.800  Rs.690 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x, ö£õ¸Ò AhUPÂø» 
÷ÁÖ£õmøh PnUQkP. 

           uµ®  Esø© 

 AÍÄ    400 Q÷»õ   460 Q÷»õ 

 Âø»  ¹. 2 Q÷»õ Ãu® ¹. 1.5 Q÷»õ Ãu® 

 ©v¨¦  ¹. 800  ¹. 690 

––––––––––––– 


